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Multiplikation - vertikal Name:
L 0se jede Aufgabe. Antworten
1) 38 2 68 3 66 49 95
e 6 o 2 e O e 4 L
2.
3.
4,
5 27 6 32 n 22 8 67
e 6 e 5 e 4 e 6 >
6.
7.
8.
9 29 100 12 1) g7 12) 15
9.
e 5 e 3 e 6 * 6
10.
11.
12.
13) 30 14) 13 15) 60 16) 22
13.
.« 4 e 4 e 5 e 9
14.
15.
16.
1) 21 18) 55 19) 46 20) 90
17.
[ ] 6 [ ] 8 [ ] 6 [ ] 4
18.
19.
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Multiplikation - vertikal Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 2) 3) 4)
38 68 66 95 . 298
e 6 o 2 e O e 4
228 136 594 380 2 136
3 594
4 380
5 6 7 8
) 27 ) 32 ) 22 ) 67 . 162
[ ] 6 [ ] 5 [ ] 4 [ ] 6
162 160 88 402 6. 160
7 88
8 402
9 10 11 12
) 29 ) 12 ) 87 ) 15 . 145
e 5 e 3 e 6 * 6
145 36 522 90 10. 36
11, 522
12 90
13 14 15 16
) 30 ) 13 ) 60 ) 22 " 120
° 4 (] 4 b 5 ® 9
120 52 300 198 14. 52
15, 300
16. 198
17 18 19 20
) 21 ) 55 ) 46 ) 90 o 126
[ ] 6 [ ] 8 [ ] 6 [ ] 4
126 440 276 360 18. 440
19. 276
20, 360
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Multiplikation - vertikal Name:
L 6se jede Aufgabe. Antworten
228 402 162 90
380 522 136 145 1.
88 160 594 36
2,
D 38 2 68 3 66 49 95
* 6 e 2 e 9 e 4 3.
4,
5,
6.
7.
8.
5 27 6 32 n 22 8 67
b 6 e 5 e 4 ° 6 9.
10.
11.
12.
9 29 10 12 1) g7 12) 15
e b e 3 e 6 e 6
Geandert 1-10 | 9283 75|67 [58[50] 4233|2517 |
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